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QUESTION 1

What are two reasons for using a full backup? (Choose two.) 

A. When a host needs to have all of the data available to be restored. 

B. When a host restore can be accomplished across multiple jobs and sessions. 

C. When a backup requires minimal space consumption. 

D. When a backup must be available in one backup image. 

Correct Answer: AD 

 

QUESTION 2

What is a SNIA standard that defines an interface used by applications to create, retrieve, update and delete elements
from the cloud? 

A. CDMI 

B. S3 

C. FTP 

D. SFTP 

Correct Answer: A 

 

QUESTION 3

Which two statements regarding hybrid drives are correct? (Choose two.) 

A. Flash memory stores frequently accessed content. 

B. Flash memory is located on the motherboard of the server 

C. Flash memory is located on the HDD circuit board. 

D. Flash memory is not used with a hybrid drive. 

Correct Answer: BC 

 

QUESTION 4

At which level would you apply LUN masking? 

A. switch level 
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B. zone alias level 

C. file system level 

D. controller level 

Correct Answer: A 

 

QUESTION 5

Which backup technique is the slowest in terms of backup time? 

A. differential backup 

B. mirror backup 

C. incremental backup 

D. full backup 

Correct Answer: B 

 

QUESTION 6

Which hardware component transports FC and IP traffic? 

A. NIC 

B. CNA 

C. iSCSI 

D. RAID array 

Correct Answer: B 

 

QUESTION 7

According to SNIA, what is the term that describes a mechanism allocating the physical capacity of a volume or file
system as applications write data? 

A. thick provisioning 

B. thin provisioning 

C. hybrid provisioning 

D. static provisioning 

Correct Answer: B 
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QUESTION 8

Which two connection sequences are supported for direct-attached storage? (Choose two.) 

A. Fibre Channel Host HBA -> FC Switch -> FC Target Device on Storage Controller 

B. Fibre Channel Host HBA -> FC Target Device on Storage Controller 

C. SAS Host HBA -> SAS Target Storage Controller 

D. iSCSI Host Software Initiator -> Ethernet Switch -> iSCSI Host Target Initiator 

Correct Answer: AD 

 

QUESTION 9

What should a valid iSCSI qualified name include? 

A. the iSCSI string 

B. date code, in yyyy-mm format 

C. the WWN string 

D. initials of company name 

Correct Answer: B 

 

QUESTION 10

Which level of data access does a SAN device provide compared to NAS? 

A. file access 

B. object access 

C. block access 

D. packet access 

Correct Answer: C 

 

QUESTION 11

Which device would be an NDMP server1? 

A. a disk storage device 

B. a tape storage device 
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C. a NAS device 

D. a DAS device 

Correct Answer: C 

 

QUESTION 12

Which technology uses lossless Ethernet? 

A. FC 

B. FcoE 

C. FCIP 

D. iFCP 

Correct Answer: B 

 

QUESTION 13

What is the name of the process by which a SAN dynamically extends volumes depending on server and application
needs? 

A. copy On First Write (COFW) 

B. deduplication 

C. LUN expansion 

D. thin provisioning 

Correct Answer: C 

 

QUESTION 14

You are designing a synchronous remote mirror solution. Which two factors regarding maximum distance must be
considered in this scenario? (Choose two) 

A. the customer\\'s application tolerance for latency 

B. the customer\\'s RTO requirement 

C. the availability of high-speed communication links 

D. the amount of storage required by the customer\\'s application 

Correct Answer: BD 
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QUESTION 15

A physical server is having a native or bare-metal hypervisor installed before being deployed. In this scenario, which
statement is correct? 

A. The hypervisor runs as a program on a host operating system and supports only one instance of a virtual server 

B. The hypervisor runs directly on the server hardware and supports the creation of multiple concurrent instances of
virtual servers 

C. The hypervisor runs directly on the server hardware and supports the creation of only one instance of a virtual
server. 

D. The hypervisor runs as a program on a host operating system and supports multiple concurrent instances of virtual
servers. 

Correct Answer: B 
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